4 TOURATECH

TOURING RALLYE RACING TECHNOLOGY

Oktober 2002

09-041-0205-1  padiator Guard Suzuki vStrom b11006

Contains:

1 x Radiator Guard, 1 x Hex Screw M5x25,

2 X Hex Screw M5 x 16, 2 x Nylock Nut M5,

5 x Washer, 1 x Sheet Metal Nut M5, 1 x Spacer16x6,2x12

Installation:

Push the radiator guard from front over the radiator.
Set the upper tabs between the upper radiator
supports.

Loosely attach the tabs and the radiator supports thru
original screw bores with M5x16 screws and Nylock
nuts M5. Use washers under the screw heads as well
as the nuts. Photo 1

Loosen the radiator supports on front cylinder head
(M6 screw).

Set the lower tab between radiator and cylinder head
and loosely tighten the original screw. Photo 2

Set the M5 metal nut above the original tab (thread
up). Photo 3.

Set the spacer between the tab and the radiator
guard and attach with M5x25 screw and washer finger
tight.

Tighten all screws to max. 15Nm torque.

These instructions are at our current level of knowledge. Legal requirements do not exist. Technical issues subject to change.



